
                   g]kfn ;/sf/

            jg ljefu
                                            lhNnf jg sfof{no, dsjfgk'/
                                  cf=j= @)&@÷)&# sf] k|yd rf}dfl;s k|ult ljj/0f

qm=;+= sfo{qmd÷lqmofsnfk PsfO{   jflif{s nIo k|yd rf}dfl;s nIo k|yd rf}dfl;s k|utL s}lkmot
nIo ef/ ah]^ nIo ef/ ah]^ nIo ef/ ah]^

c_ k"FhLut vr{ cGt{utsf sfo{qmdx?
1 sa'lnotL jg tyf kz' ljsf; sfo{qmd

8=6=23=31
Ps Sni6/ Ps pTkfbg M cd[;f], e"O{s6x/, cn}rL, af+; tyf cGo 
u}=sf=j=k}= -a[Iff/f]k0f_

If]qkmn
÷:yfg 1 1=6 1 0 0 0 0

8=6=23=32
cld|;f] ,g]lko/ lj?jf pTkfbg / vl/b tyf ljt/0f -xhf/df_ -
a[Iff/f]k0f j6f 20 1=6 1 20 0=32 0.2 20 0=32 0.2

e"QmfgL x"g 
jfsL

8=6=23=33 sj'lnotL jg ;d'xjf6 pTkflbt lj?jf vl/b xhf/df 40 6=39 4 40 1=28 0.8 40 1=28 0.8
e"QmfgL x"g 
jfsL

8=6=23=35 sa'lnotL jg pTs[i6 ;d"x k'/isf/ -a[Iff/f]k0f_ k6s 1 0=24 0.15 0 0 0 0

8=6=23=36
;fdflhs kl/rfng ;]jf -;d'x kl/rfngsf]  cg'bfg ;xof]u_ -
a[Iff/f]k0f_ hgf 7 10=73 6.72 7 3=58 2.24 7 3=58 2.24

8=6=23=37 ;fdflhs kl/rfng ;'kl/j]If0f -lhNnf_ hgf 1 2=87 1.8 1 0=94 0.59 1 0=94 0.59
8=6=42=24 gljgtd sfo{qmd -cGo_ Kofs]h 1 7=98 5 0 0 0 0

8=6=42=148
sa'lnotL jg ;d'xsf] ljwfg, sfo{of]hgf tyf lhljsf]kfh{g 
;'wf/of]hgf ;d]t -cGo_ j6f 10 1=6 1 0 0 0 0

8=6=42=152 sa'lnotL jg If]q,sni6/ tyf ;d'xsf] klxrfg u7g -cGo_ j6f 10 1=6 1 10 1=6 1 10 1=6 1

8=6=42=155
sa'lnotL jg ;d'xsf] ljwfg tyf sfo{of]hgf k'g/fjnf]]sg - 
lhljsf]kfh{g ;'wf/of]hgf ;d]t_ j6f 50 5=59 3.5 20 2=23 1.4 20 2=23 1.4

8=6=42=175 u|fld|0f k"jf{wf/÷e"–;+/If0f ;fd|fu|L ;xof]u -cGo_ ;]6 2 1=6 1 0 0 0 0
8=6=42=177 8fn]3f+;sf] ljp vl/b, /f]k0f tyf ljt/0f-cGo_ Kofs]h 2 0=32 0.2 0 0 0 0
s k"FhLut vr{ sfo{qmdsf] hDdf M 26.37 6.23 6.23

2 ;fd'bflos jg ljsf; sfo{qmd-xl/t /f]huf/ ;d]t_

8=5=1=23
pks/0f-lh=lk=P;=,sdKo'6/, kmofS;,lk|G6/,;f]n/ cfbL_v/Lb -sfof{no 
;Frfng ;Fu ;DalGw oGq pks/0f tyf d]l;g cf}hf/_ k|sf/ 1 2=95 1.85 1 2=95 1.85 1 2=95 1.85

        sfo{qmdsf] gfd M ;fd'bflos  tyf sa'lnotL jg ljsf; sfo{qmd



8=6=42=19

;fd'bflos jg pkef}Qmf ;d'x u7g, btf{, sfo{of]hgf tof/L tyf jg 
x:tfgfGt/0f k|lqmofdf ;xlhs/0f -n}lËs ;dtf / lbuf] jg 
Joj:yfkg nlIft ;d]t_ cGo j6f 5 64 0.4 0 0 0 0

8=6=42=47
;fd'bflos jg pkef}Qmf ;d'xsf] sfo{of]hgf gljs/0fdf ;xof]u -
ul/j,dlxnf /blnt nlIft hnjfo" kl/jt{g cg's'n of]hgf_ cGo j6f 30 2=39 1.5 10 0=8 0.5 10 0=8 0.5

e"QmfgL x"g 
jfsL

8=6=42=52
;fd'bflos jg sfo{of]hgfsf] k|fljlws kl/If0f  -If]lqo jg 
lgb]{zgfno dfkm{t_ cGo ;d'x 2 1=6 1 0 0 0 0

8=6=42=54 ;fd'bflos jg pkef]Qmf ;d'xsf] cg'udg / lgl/If0f -cGo_ j6f 525 5=87 3.68 525 1=6 1 0 0 0
k"FhLut vr{ sfo{qmdsf] hDdf M 8.43 3.35 2.35

cf_ rfn' vr{ cGt{utsf sfo{qmdx?

1 sa'lnotL jg tyf kz' ljsf; sfo{qmd

2=1=1=1 wf/fsf] dx;'n -wf/fsf] dx;'n_ o'lg6 10 0=1 0.06 40 0=03 0.02 0 0 0
2=1=2=1 ljh'nL dx;''n -ljh'nL dx;''n_ o'lg6 10 0=14 0.09 40 0=05 0.03 0 0 0
2=2=1=1 6]lnkmf]g dx;'n -6]lnkmf]g dx;'n_ dlxgf 1 0=16 0.1 1 0=05 0.03 0 0 0

2=2=2=1
j]j;fO{6 xf]l:68= tyf O{G6/g]6,O{d]n ;+rfng ug{ -O{d]n 
÷{O{G6/g]6÷j]j;fO{6_ k6s 1 0=16 0.1 1 0=05 0.03 0 0 0

2=4=1=3 df]6/;fO{snsf] nfuL k]6«f]n -sfof{nosf] O{Gwg_ ln6/ 78 0=16 0.1 26 0=05 0.03 0 0 0
2=4=1=9 l8hn -sfof{nosf] O{Gwg_ ln6/ 174 0=3 0.19 58 0=1 0.06 0 0 0
2=4=1=25 Uof; -sfof{nosf] O{Gwg_ ;+Vof 2 0=06 0.04 1 0=03 0.02 0 0 0
2=5=1=3 df]6/;fO{sn dd{t -;jf/L ;fwg dd{t_ j6f 1 0=03 0.02 1 0=02 0.01 0 0 0
2=5=1=15 uf8L dd{t -;jf/L ;fwg dd{t_ j6f 1 0=16 0.1 1 0=05 0.03 0 0 0

2=5=1=16 sDKo"6/÷kmf]6f]skL÷lk|G6/÷kmofS;÷:Sofg/ -;jf/L ;fwg dd{t_ ;+Vof 1 0=13 0.08 1 0=03 0.02 0 0 0
2=7=1=2 sfo{no ;dfg -sfof{no d;nGb ;dfg vr{ _ ;+Vof 1 0=18 0.11 1 0=03 0.02 1 0=18 0.11
2=7=3=1 kq klqsf,dfl;s tyf b}lgs -kq klqsf tyf k'l:tsf_ dlxgf 1 0=03 0.02 1 0=02 0.01 0 0 0

2=15=1=57
lhNnf :tl/o k|ult ;ldIff j}7s-pwdlzntf, /f]huf/L 
d'ns÷z;lQms/0f÷lzk ljsf; tyf Ifdtf clea[l2 tflnd _ k6s 1 0=4 0.25 1 0=4 0.25 1 0=4 0.25

2=15=1=58

n}lËs tyf ;dflhs ;dfj]l;s/0f k|jGwg tflnd -!%hgf @ lbg]_ -
pwdlzntf, /f]huf/L d'ns÷z;lQms/0f÷lzk ljsf; tyf Ifdtf 
clea[l2 tflnd _ k6s 1 0=48 0.3 1 0=48 0.3 1 0=48 0.3



2=15=1=59

/]s{8 lslkË ,n]vf ;'l29s/0f tyf Joj:yfkg sf]lr+u -pwdlzntf, 
/f]huf/L d'ns÷ z;lQms/0f÷lzk ljsf; tyf Ifdtf clea[l2 tflnd 
_ k6s 2 0=64 0.4 1 0=32 0.2 1 0=32 0.2

2=15=1=77
sni6/ n]e]n of]hgf th'{df uf]li7 -pwdlzntf, /f]huf/L d'ns÷ 
z;lQms/0f÷lzk ljsf; tyf Ifdtf clea[l2 tflnd _ k6s 7 0=56 0.35 0 0 0 0

2=15=1=81

s'lnotL jgdf huuf ljsf; tflnd -% lbg _   -pwdlzntf, 
/f]huf/L d'ns÷ z;lQms/0f÷lzk ljsf; tyf Ifdtf clea[l2 tflnd 
_ k6s 10 2=39 1.5 0 0 0 0

2=15=1=83

s'lnotL jgdf huuf ljsf; k'g/tfhuL tflnd tyf hUuf ljsf; 
sfo{qmd  -pwdlzntf, /f]huf/L d'ns÷ z;lQms/0f÷lzk ljsf; 
tyf Ifdtf clea[l2 tflnd _ ;d'x 1 0=16 0.1 0 0 0 0

2=15=2=35
sa'lnotL jg ;d'xsf ls;fgnfO{ jg Joj:yfkg tflnd -:ynut_ @ 
lbg]- uf]li7 tyf sfo{zfnf_

k6s÷ 
;+Vof 6 0=96 0.6 0 0 0 0

2=15=2=39
sfo{qmd ;dGjo j}7s -s]Gb|, If]lqo, lhNnf, sni6/_  uf]li7 tyf 
sfo{zfnf k6s 1 0=48 0.3 0 0 0 0

2=15=2=40
sfo{qmd ;dGjo sfo{bnsf] rf}dfl;s ;ldIff j}7s -s]Gb|, lhNnf_  
uf]li7 tyf sfo{zfnf k6s 2 0=48 0.3 1 0=24 0.15 1 0=24 0.15

2=15=2=41 ;d'x :tl/o ;xeflutfd"ns cg'udg -uf]li7 tyf sfo{zfnf_ ;d'x 3 0=48 0.3 1 0=16 0.1 1 0=16 0.1

2=15=2=42
;fdflhs kl/rfns tyf lhNnf ;'k/efOh/sf] 4}dfl;s j}7s -uf]li7 
tyf sfo{zfnf_ k6s 6 0=48 0.3 2 0=16 0.1 2 0=16 0.1

2=15=3=60

cg'udg d'Nof+sg / ;kmn sfo{x?sf] ;+sng tyf k'l:tsf k||sf;g -
sa'lnotL jg ljsf; tkm{sf]_ -k|rf/ k|;f/ tyf ;dfu|L pTkfbg tyf 
k|sf;g / ljt/0f_ k6s 1 0=8 0.5 0 0 0 0

2=15=5=112
;d'xsf] tYof+s ;+sng / PdcfO{O{;df cknf]8 cWoog 
÷;j]{If0f÷cg;Gwfg ;d'x 467 1=12 0.7 0 0 0 0

2=19=1=5 l4lto tx -cg'udg d'NoÍg tyf sfo{qmd sfo{fGjog e|d0f vr{_ hgf 52 0=75 0.47 17 0=24 0.15 17 0=18 0.11

2=19=1=6 t[lto tx -cg'udg d'NoÍg tyf sfo{qmd sfo{fGjog e|d0f vr{_ hgf 25 0=29 0.18 7 0=08 0.05 7 0=08 0.05
2=19=2=1 cflGtl/s e|d0f vr{ -cfGtl/s e|d0f_ k6s 21 0=3 0.19 7 0=1 0.06 0 0 0
2=19=2=4 cflGtl/s e|d0f vr{ -t[lto tx_-cfGtl/s e|d0f_ hgf 14 0=16 0.1 4 0=05 0.03 0 0 0
2=20=1=1 hnkfg -ljljw vr{ ;'/Iff ;DjlGw _ k6s 8 0=06 0.04 2 0=02 0.01 0 0 0



8=6=42=328

lhljsf]kfh{g ;'wf/of]hgf sfof{Gjog ;xof]u ;d'x cg'bfg -? 
%),))).– Kf|lt ;d'x k|:tfjgf cg';f/_ nw'pwd ljsf; tyf cfo 
cfh{g -cGo_ ;d'x 15 11=97 7.5 0 0 0 0

8=6=42=330 k'/fg]f ;d'xsf] s=j=If]q Joj:yfkg cg'bfg-cGo_ ;d'x 16 5=11 3.2 0 0 0 0

8=6=42=331
u}x|sfi6 jg k}bfjf/ lj?jf vl/b tyf /f]k0f cg'bfg ;xof]u - 
lgufn]f, jf+;, t]hkft, cf]v/, cd[;f] cfbL _-xhf/df_ cGo j6f 30 4=79 3 30 0=96 0.6 30 0=96 0.6

e"QmfgL x"g 
jfsL

v rfn' vr{ sfo{qmdsf] hDdf 21.59 2.31 1.97
2 ;fd'bflos jg ljsf; sfo{qmd-xl/t /f]huf/L ;d]t _
2=1=1=1 wf/fsf] dx;'n -wf/fsf] dx;'n_ o'lg6 6 0=11 0.07 6 0=03 0.02 0 0 0
2=1=2=1 ljh'nL dx;''n -ljh'nL dx;''n_ o'lg6 1=7 0=32 0.2 1=7 0=1 0.06 0 0 0
2=2=1=1 6]lnkmf]g dx;'n -6]lnkmf]g dx;'n_ dlxgf 1 0=24 0.15 1 0=08 0.05 0 0 0
2=2=2=2 O{G6/g]6 dx;'n-O{d]n ÷{O{G6/g]6÷j]j;fO{6_ dlxgf 1 0=16 0.1 1 0=05 0.03 0 0 0
2=2=4=4 x'nfs l6s6 -x'nfs vr{_ j6f 1 0=08 0.05 1 0=02 0.01 0 0 0
2=4=1=9 l8hn -sfof{nosf] O{Gwg_ ln6/ 228 0=46 0.29 228 0=14 0.09 0 0 0
2=4=1=20 df]6/;fO{snsf] nfuL k]6«f]n -sfof{nosf] O{Gwg_ ln6/ 96 0=19 0.12 96 0=06 0.04 0 0 0
2=4=1=25 Uof; -sfof{nosf] O{Gwg_ ;+Vof 4 0=11 0.07 4 0=03 0.02 0 0 0
2=5=1=3 df]6/;fO{sn dd{t -;jf/L ;fwg dd{t_ j6f 3 0=14 0.09 3 0=05 0.03 3 0=05 0.03
2=5=1=15 uf8L dd{t -;jf/L ;fwg dd{t_ j6f 1 0=43 0.27 1 0=14 0.09 0 0 0

2=5=1=16 sDKo"6/÷kmf]6f]skL÷lk|G6/÷kmofS;÷:Sofg/ -;jf/L ;fwg dd{t_ ;+Vof 2 0=1 0.06 2 0=03 0.02 0 0 0
2=7=1=2 sfo{no ;dfg -sfof{no d;nGb ;dfg vr{ _ ;+Vof 1 0=43 0.27 1 0=14 0.09 1 0=43 0.27
2=7=2=1 n]6/ Kof8,/]s{8 kmfO{n,vfd cGo kmf/d 5kfO{ vr{ ;FVof 1 0=14 0.09 1 0=05 0.03 0 0 0
2=7=3=1 kq klqsf,dfl;s tyf b}lgs -kq klqsf tyf k'l:tsf_ dlxgf 1 0=1 0.06 1 0=03 0.02 0 0 0

2=15=1=55
O{nfsf :t/Lo of]hgf th'{df uf]li7 -pwdlzntf, /f]huf/L d'ns÷ 
z;lQms/0f÷lzk ljsf; tyf Ifdtf clea[l2 tflnd _ j6f 15 2=87 1.8 0 0 0 0

2=15=1=56
jflif{s of]hgf th'{df uf]li7 -pwdlzntf, /f]huf/L d'ns÷ 
z;lQms/0f÷lzk ljsf; tyf Ifdtf clea[l2 tflnd _ lhNnf 1 0=48 0.3 0 0 0 0

2=15=3=47
lhNnf jf6 ;++rfng ePsf ;Dk'0f{ sfo{qmdx?sf] jflif{s k|ult k'l:tsf 
k|sf;g -k|rf/ k|;f/ tyf ;fdu|L pTkfbg tyf k|sf;g / ljt/0f_ lhNnf 1 0=8 0.5 1 0=24 0.15 0 0 0



2=15=3=50

jg ,jtfj/0f,jGo hGt' Pj+d h}ljs ljljwtf ;DjlGw ljleGg 
lbj;,dx]fT;j tyf ;df/f]x -k|rf/ k|;f/ tyf ;fdu|L pTkfbg tyf 
k|sf;g / ljt/0f lhNnf 3 0=48 0.3 0 0 0 0

2=15=40=55 pTs[i6 ;fd'bflos jg pkef]Qmf ;d'x k'/isf/-cGo_ lhNnf 1 0=32 0.2 0 0 0 0

2=19=1=5 l4lto tx -cg'udg d'NoÍg tyf sfo{qmd sfo{fGjog e|d0f vr{_ hgf 6 0=61 0.38 42 0=19 0.12 0 0 0

2=19=1=6 t[lto tx -cg'udg d'NoÍg tyf sfo{qmd sfo{fGjog e|d0f vr{_ hgf 5.3 0=42 0.26 37=1 0=13 0.08 0 0 0
2=19=2=1 cflGtl/s e|d0f vr{ -cfGtl/s e|d0f_ k6s 8=7 0=62 0.39 35=5 0=21 0.13 0 0 0
2=20=2=3 lrofkfg -clylt ;Tsf/ tyf hnkfg ef]h vr{_ k6s 3 0=1 0.06 2 0=03 0.02 0 0 0
2=20=2=4 hnkfg -clylt ;Tsf/ tyf hnkfg ef]h vr{_ k6s 2 0=11 0.07 2 0=03 0.02 0 0 0
2=20=2=5 ef]h -clylt ;Tsf/ tyf hnkfg ef]h vr{_ k6s 2 0=16 0.1 2 0=05 0.03 0 0 0

rfn' vr{ sfo{qmdsf] hDdf 6.25 1.15 0.3
s'n hDdf M 100 62.64 20=85 13.04 17=34 10.85

ef}lts k|utL k|ltzt M88=20
efl/t k|utL k|ltzt M 83=16

tof/ ug]{ M r]s ug]{ M k|dfl)ft ug]{ M


